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ASSESSMENT  4                                                                                                          

MATHEMATICS   solution                                                                                                                                       

Year7 

MULTIPLE CHOICE 

1. Raj’s family of 2 adults and 2 children went to watch movies at Life Cinema D-max. If each 

adult paid $10.00 and each child paid $6.50, how much change will Raj get from a $50.00 

note?  

A. $16.50                     B. $17.00                          C. $33.00                               D. $33.50  

2. A plane ticket costs $75. Which calculation will give the new price if a fee of 10% is added 

to the price? 

 A. $75 x $7.50           B. $75 – $7.50                 C. $75 ÷ $7.50                      D. $75 + $7.50  

3. A crate filled with bottles weighs 4 kg. The bottles weigh 2.3 kg. What is the weight of the 

empty crate?  

A. 1.7 kg                      B. 2.3 kg                           C. 6.3 kg                                 D. 9.2 kg  

4. There are 2 green, 4 blue, 3 orange and 3 yellow marbles. What is the probability that 

Rusiate picks a blue marble?  

A.   4/12                        B. 1/4                                 C. 1/12                                   D. 8/12  

5. In the diagram given below, the cone and cylinder have the same height and diameter. If 

the volume of the cylinder is 90 cm³, then the volume of the cone would be 

 A. 10 cm³                  B. 30 cm³                           C. 60 cm³                             D. 90 cm³  
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6. Mereoni was given $5.00 for her spending. She spent $3.00 on snacks. What percentage 

of the money was spent on snacks?  

A. 2 %                         B. 3 %                                   C. 40 %                               D. 60 %  

7. Shanil borrows $8,000 for 4 years from a bank to buy a car. What is the Simple Interest 

charged by the bank if the rate is 8% per annum?  

A. $320                      B. $640                                 C. $1,280                            D. $2,560  

8. 4² + 3³ = ________  

A.  43                          B. 20                                     C. 28                                     D. 97  

 

9. 7.2 ÷ 0.08 = _______  

A. 0.09                      B. 0.9                                    C.  90                                      D. 900  

10. The value of p in the equation 2p – 6 = 10 is 

 A. 2                            B.   8                                       C. 11                                    D. 32 

 

PROBLEM SOLVING  

11. Francis bought the following fruits from the market on a Saturday morning:  

 15 Mangoes 

 20 Pawpaws 

 15 Oranges 

(a) On a pie chart show how much percentage would represent one fruit?  

 

Fruits 

Mangoes

Pawpaws

oranges

30% 30% 

40% 
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(b) How much percentage would represent Oranges?  15/50 x 100 = 30% 

(c) What fraction (in simplest form) of the pie would be pawpaws? 40/100 = 4/10 = 2/5 

 

12. A population survey showed 16,000 adults and children participated in a kite fly 

competition.  1/4 of the population which flew the kite were adults.  

(a) What number of the kite flyers were adults? 

      ¼ x 16000 = 4000 adults 

(b) Calculate the number of children who flew the kites.  

      ¾ x 16000 = 12000 children 

(c) If half of the adults are females. How many females participated in the competition?  

     ½  x 4000 = 2000 female adults 

 

13. The weight of a truck is 9.5 tonnes. 1 tonne = 1000 kg 

(a) The truck is loaded with another 3 tonnes of cargo. What is the total weight of the truck 

and the cargo in kg?  9500kg + 3000kg = 12500kg 

(b) If 2/5 of the cargo is off-loaded, how many tonnes of cargo is left? 

         2/5 x 3000kg = 1200kg    

        3000kg – 1200kg = 1800kg 

 

14.  10% of $250 = 10/100 x 250 = $25 

15.  Change 15% to simplest fraction.  15/100 = 3/20 
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YEAR 7                                                                                                                                    

SOCIAL STUDIES                                                                                                                 

WEEKLY  HOMESTUDY PACKAGE 22 SOLUTION 

      

             FILL IN THE BLANKS 

i- rights      ii- belong        iii- families      iv- dependent     v- care   

 vi- decisions    vii- conflicts      viii- peacefully    ix- diverse     x- difference 

 



Sangam Education Board : Online Resources Page 6 
 

1076 NADI SANGAM SCHOOL 

YEAR 7 

HEALTHY LIVING 

WEEKLY HOME STUDY PACKAGE 22 

SOLUTION 

True and False 

               i.  T             ii.  F             iii.  F               iv.  F          v. T                 vi.  T 

Question: 2 

i. a. Heart pumps blood to all parts of the body. 

b. Carbon dioxide is removed in the lungs. 

 

ii. a. Circulatory system delivers nutrients and oxygen to all cells and takes away 

waste materials. 

b. exercise regularly, eat healthy food/fruits/vegetables, stay hydrated, live an 

active life, avoid fatty foods/ alcohol and tobacco. 

 

1076 NADI SANGAM SCHOOL                                                                                                                                    

YEAR 7 - HINDI                                                                                                                                                

WEEKLY HOME STUDY PACKAGE 22                                                                                                          

ASSESSMENT 4 solution 


























